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1. Order of Integration: / fx)dx = — / f(x) dx A definition
b a
0

A definition when
f(a) exists

2. Zero Width Interval: / f(x) dx =
b b
3. Constant Multiple: / kf(x)dx = k / f(x)dx Any constant k

b b b
4. Sum and Difference: / (fx) £ gx)dx = / f(x)dx £ / g(x) dx

b c <
5. Additivity: / f(x) dx + / f(x)dx = / f(x) dx
a b a



Definite Integrals
1. ‘['01(:02 + 32 + 2)dx

% I :62 sin(z)dz

3. [ cos?(z)dz (Hint: Use the identity cos®(z) = 22

4. ff Ldz
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@ [y (2? + 3z + 2)dz

Find the antiderivative:

Evaluate at the limits:
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-/Ol(m2 + 3z 4 2)dz = [

(b) f:{fz sin(z)dz

The antiderivative of sin(z) is — cos(z):
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(@ [y cos®(z)dz

Using the identity cos?(z) = Ltcos(2z),
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/cosz(m)dmz/ Mdm
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Split the integral:

1 w 1 ™
=g /0 ldz + 5/0 cos(2z)dz
Evaluate each term:
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5 foﬂ cos(2z)dz = [sm(22a:)]0 - sm(22;r) . sinz(o) )

So:
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1;Evaluate the following definite integrals:
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SOLUSION
1-
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f (3x%+2x—2)dx
1

2

3x®  2x?
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2-Evaluate the following definite integrals
Lo [ (5x* = 8x+ S)ar

9 3
2. [ (o +2x+3)dx-

; I
3. L (\E+m)dx—

4
4. I%dx
1 X

2 2
. L(l+3:)z dt -

W

6. [ -1

OIS

2. 200.2

3. 13.333

4. 2.344

5. 1425

6. 174

Thanks for lessening

Any questions



